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General Instructions:

1. All questions are compulsory. . : ; ;
2. The question paper consists of 31 questions divided into four sections A, B, C and

D. Section-A comprises of 4 questions of 1 mark each; Secti.on-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.
4. Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each
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1 B mammm R
sin 30° cos 30°
Find the value of -—l—- - ——E—-
sin 30° cos 30°
| 1
aft sec 5A = cosec (A +30), 9 A F1 TF T Hrd |
If sec 5A =cosec (A +30), find A.
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Following distribution gives cumulative frequencies of ‘more than type’ :

Marks obtained More More More More
than or|than or|than or than or
equal to|equal to equal to | equal to

5 | 10 15 20
Number of students | 30 23 8 2.
(cumulative
frequency)

Change the above data to a continuous grouped frequency distribution
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Check whether 12" can end with the digit 0 for any natural number n. W%LMMLJ u EQRMAL
Chase Excellence
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Write the decimal expansion of % without actual division.
X

% fgard ague 9@ it f| F @ J3+5 @ J5-43 F 2

Find the quadratic polynomial whose zeroes are J3+J5 and 543,

- 2
afe AABC ~ ADEF @1 AB= —:-DE %, A &rwF (AABC) : Se (ADEF) 91 1T

If AABC ~ ADEF and AB= %DE, find ar(AABC) : ar(ADEF).

9 frefafea gaufie #1 fag Fife

2
1 1 ) 1
1+ T =
[ tanzA] ( cot’A cos?A—cos’A
Prove the following identity.
1 1 ] 1
1+ ) 1# = ;
( tanzA] [ cot?A cos2A—cos?A
10 fir=1 SieRel 1 IgeTd A1 ehlfog ; 2

a1 1-3|3-5 |5—-7 7 9 9-11
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- |2
FrERa | 14 16 2 4

For the following data, find mode:

Class ~ |1=3 |8-5 |5=-7 |7-2 |[9=U / \/ \

4 2 ISUINI
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Frequency | 14 16 2
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Question numbers 11 to 20 carry three marks each.
@ Eﬂmﬁ%@ﬁmw?ﬁ%aﬁﬂhmﬂ%mﬁmmm%Wmaﬁé‘f’f 3
e gl

Show that the square of an odd positive integer is of the form 8m +1 where m is some whole
number.

12 yfeeeT § & T Ff
x—y=2
3x+2y=16
Solve by substitution :
x—y=2

3x+2y=16

13 TER 2% + (3 - V2)x — 32 FITE TFF 2 1 FER % 34 HF 96 Hq 3

If one zero of a palynomial 1 (3 = ﬁ)x — 32 is V2, then find the other Zero.

14 < FA o i A 1 FA T ?5650%@%%5%3211&@@%@?7100%: 3
Th FH! 991 T 0N 1 ST 370 Jod 1 B |

Two chairs and three tables cost ¥ 5650 whereas three chairs and two tables cost 2 7100. Find
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1
o5 N N
4 the cost of a chair and a table separately. JSUNIL TUTGRIAL
& Chase Excellence

@ ICER: PQqummaggﬁ%iRQmum-ﬁgL%nmmﬁﬁgm,PRaﬂ!sm 3

RREIER TGRS
S R
! M -
P Q
'_i In given figure PQRS is a parallelogram L is the mid point of RQ. Prove that M is the point of
e trisection of PR and SL.
¢
5]

”

16 T gHH Biys POQRE, PR @ s vl 1 e A e 3cm A4 em 1 Pem F e g X 3

A T ¥R & fF PX=12 cm T8 XR=13 cm &1 ~XPR # H1Y 9 Hifo |
% In a right angled APQR, PR is the hypotenuse and other two sides are of length 3 cm and 4 cm.
, X is a point outside the triangle such that PX=12 cm and XR=13 cm. Find the measure of
' ZXPR.
17 ﬂﬁ’sinA+cosA=JZ-cosA%,ﬁﬁcotAﬂﬂﬂﬁirﬁTﬁﬁT{l 3

If sinA + cosA = J2 cosA, find the value of cotA.

- IR —tanA.sinA.cosA 1 3
1} . fo ; 1 tansmzA 0S e o
:
.‘.
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/\ /[ \
1-tanA.sinA.cosA 1

Provetheidentity: ——a  © ' smn’A  JSUNIL TUTORIAL

Chase Excellence

19 A9 R wud arera wnoh  eed & 50wl w Afe T g §

200 ®([300 ¥[400 A[500 F|e00 WA
rw | afuw | ofus W | ofw W | s @ | afuw @
€&:) SF ITH IGH IqF EED
EREE ELiCe ELET ELEL LR

EECCIES:

05
50 42 30 18

.ﬁa‘h@f%ﬁqqm'ﬁ S YR ' Fed ARaa oo (AR Wi

Given below is a cumulative frequency distribution table showing daily income of 50 workers

of a factory :

L More More More More More
Daily income than or | than or | than or than or|than or
(in%) equal | equal to |equal to equal to | equal to

to 200 | 300 400 500 600
Numb

L 42 30 18 05

workers

Draw cumulative frequency curve (ogive) ‘of more than’ type for this data.

20 ﬁma@mmﬁ,wm%ﬁmﬁﬁwmﬁwﬁa@émw%;

S @ (W) 100-125 | 125-150 | 150-175 | 175-200 | 200-225

_ \

: z n
ferenferat =t wer 14 8 12 5 11 ‘ 3
Tr1-faser fafy gro i faensdt @ <9 @9 T it ;;_

5

Monthly pocket money of students of a class is given in the following frequency distribution 6

5
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¥ Pocket money (in%) | 100-125 | 125-150 | 150-175 | 175-200 | 200-225

¢
fg Number of students | 14 8 12 5 11

Find the mean pocket money, using step deviation method.

Qug-g / SECTION-D o
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Question numbers 21 to 31 carry four marks each. Chase Excellence
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A rectangular courtyard is 18 m 72 cm long and 13 m 20 cm broad. It is to be paved with

square tiles of the same size. Find the least possible number of such tiles.

22 4§ﬁ'h‘fa?r{3ﬁGﬁao-rq§af2100%am5§féﬁaﬂzzﬁﬁﬁmq?q?1750%: us A iR 1 FEi
&1 HTT-3TelT 74 1 iy |

4 chairs and 3 tables cost ¥ 2100 and 5 chairs and 2 tables cost T 1750. Find the cost of one

chair and one table separately.

23 7fg agTe 6x4+8x3+17x24;21x+7ﬁ TR TgUE 32+ dx+1 A T I W ATHA ax+b 8 da 4
3iR b 1 W 9@ RIS |

If the polynomial 6x4+8x3+17x2+21x+7 is divided by another polynomial 3x2+4x+1, the
remainder comes out to be (ax +b), find a and b.

24 ?ﬁﬁ@isﬁsbf:ls,6x-5y=30ﬁﬂx=omwﬁﬁﬁﬁm@%lwﬁwéa
S et ¥ ghreved fig 7@ Ff oI 58 Fre o dwa ot 91 FIN, SiEfE et 99k F
gl
=g YR % g § a1 @ fRE TER F SRR Hi AL HI ST 82

Three lines 3x + 5y =15, 6x —5y =30 and x=0 are enclosing a beautiful triangular park. Find
the points of intersection of the lines graphically and the area of the park if all measurements
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are in km. ey -
What type of behavior should be expected by public in this type of park :

25 wﬁﬁ,PQRﬁkQSTﬁWﬁgﬁ%,ﬁﬁm:RaﬂtTW%l fag #ifaw fF 4
QRXxQS=QPxQT &1

i /\ / N\
T, ’ ' ':93
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In the figure, PQR and QST are two right triangles, right angled at R and T respectively.
Prove that QR x QS=QP x QT.

P
G
Q R S
26 AABC #, afe ~ADE= /B &, 4 fag #If5¢ f AADE ~ AABC ®1 4

37 9f¢ AD=7.6 cm, AE=7.2 cm, BE=4.2 cm 3R BC=8.4 cm %, @ DE ¥/ Hifs¢ |

A

D

B C
In AABC, if ZADE = £B, then prove that AADE ~ AABC.

Also, if AD="7.6 cm, AE=7.2 cm, BE=4.2 cm and BC=8.4 cm, then find DE.
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If m cotA =n, find the value of o2 = o P s L S
2 n cosA +m sinA Oukn —
anlnb = evah. o M -
x aﬁ’ . p;:._/l;'\:_'__..
ra
sinA (+ cosA '1 Ly ;
1+ cosA 1 - cosA cosA 1 + cosA 1”}; — N
Prove th | i - n
rove that : AT
L P
sinA__ sinA =“F+cosA " JT—cosA g Mt .-—m‘r\
1 + cosA 1 — cosA 1 — cosA 1 + cosA <
o Lk — Mol uoh
i Ao
29  fog wifag fe: 1
A top v A

( sinA 1+ cosA)' ( cosA 1+ smA) = 4 secA. cosecA
1+ cosA sinA 1+ sinA COsA

Prove that :

sinA 1+ cosA).[ cos{\ " 14 sinAJ e dseclk. GEA \rp\ OD"'
1+ cosA sinA 1+ sinA CcosA mut/,’-*“
- 4\\
can M s
» e
30 %W@mw%ﬁaﬁﬁ%ﬁaaﬁﬁhma@mé&ﬁmm%; 4
: 5 5
: 500~ ] 400- |600- |800- |1000- | 1200- ‘Ew A-
J9 @« (T H) 0-200
400 | 600 {800 [1000 |1200 | 1400
| ;Z;gﬁ*E?
""\ | & &m"ﬁ&-"’
T N 4
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foenfegi st 9@ | 33 74 170 |88 76 44 25
IR AHE) F HIEA G HAH A HIT |
Pocket expenses of the students of a class in a college are shown in the followin
distribution :

Pocket expenses 0200 | 290 [400- 600 |800- |1000- [ 1200-

(in¥) 400 600 800 1000 | 1200 | 1400

Nomoer ob e o 170 |88 |76 |a4 5

students i =
[ A
Find the mean and median for the above data.

~)

31 @m%@aﬁaﬁﬁméﬁaﬁﬁuﬁﬁiaﬂmﬂﬁﬁuﬂémﬁwﬁéﬂé%:

Y (i o)

5-7

7-9

9-11

11-13

13-15

15-17

17-19

faenfeai =t g

X

15

18

30

50

48

X

SR SAHS F TEAH T HISIT 791 @ TRARATT, Jd AT, TR TRARS]

&1 AT 181 B

XOn Sports day of a school, age-wise participation of students is shown in the following

distribution :
Age
5-7 7-9 9-11 |[11-13 | 13-15 | 15-17 | 17-19
(in years)
Number of students | x 15 18 30 50 48 X

Find the mode of the data. Also, find missing frequencies when sum of frequencies is 181.
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